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Instructions : 

1 

(i) All questions are\ c()mpulsory.
(ii) There are two Sections in questio� paper - Section - A and Section - B.
(iii) In Section - A, Q. Nos. 1 to 4 are objective type which contain fill in the

blanks, multiple choice, one word/sentence and match the column. Each question
carries 5 marks. ·

(iv) In Section - B there �re Q. Nos. 5 to 18 and internal options are given in each
question.

(v) Q. Nos. 5 to 7 are very short answer type questions. Each question carries
2 marks. Write answer of these questions approximately in ·30 words each. 

(vi) Q. Nos. 8 to 10 are short answer type questions. Each question carries 3 marks.
Write answer of these questions approximately in 75 words only.

(vii) Q. Nos. 11 to 15 are long answer type questions. Each question carries 4 marks.
Write answer of these questions approximately in 120 words only.

� - 3' 
SECTION - A 

(q�f;tts& 'Sf�";{) 
(Objective type questions) 

ft@ � q,°r 1ffi �Ril 21 
(i) �lcbifhGl4 0� �Teo "{<\q � t.,tcb�1'il1 � .
(ii) "I ""' ;l,-4 "I� 4 � �Rilflf>l.'II GefFlfii{<.{ � -�-- '1 cnfl:r l(()<-11 

1X5=5 
cbt;efl Id i I 

(iii) 
(iv) 
(v) 

'Cf� om lfAcJ ffl � � mtA � �cb�cb � -q � ___ -qco t

�. cf,r q,°r �li€41ctJI -q' rt 'CfRtf 'c6T 

-#lc11�..m � (i�&jOj ffl q@ � 
---- tlrn 'iif@T t I 

cb(;l.'llct i I 
Fill in the blanks : 
(i) Morphologically and genetically simila_r individuals are called ___ _
(ii) Drosophila melanogaster worked done by ___ _
(iii) One of the alternate sources of proteins for animal and human nutrition

is 
(iv) 
(v) 

----
The green plant in the ecosystem are called ___ _
Virus that infect bacteria is called. ----
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tJtT �cfi(iq � 

('3l) l'.jl�jq (U�Q � fu"n s'3lf �Tc6T� cf;)' � � m°ffi �
(i) � (ii) �lGii:ScblQ
(iii) X°ich11� (iv) �lGiiU:S

(�) � fu�"ti:t fcITTT 
. (i) 21� 

1u,(l" � � ma ctr � �. mm i ? 
·(ii) 1 �

(iii) 13� (iv) 1 �
(U) � cf;)' 'lfGq' � � m�· tiQ;,i)� �� "cbT '3GIQ (Ui t° I

(i) iill�ch'1 (ii) '1i�c61 (l�Gil
(iii) �ch11<t�G11 (iv) e1�-11�q:i)ftii1

. (tt) �i!�'1 fcl;c111 41�1Q«.i�:S �3ll "cbT � mm i ?
(i) 2 (ii) 4
(iii) 5 (iv) 3

('ll) ctl9;'1°.sJlq Nz "cbT � ftcb (Uj m cffi1fT �d31Gil� #(ell� i I 
� 'cm � ., .,� (i) ( '<-I lcbtt (ii) Gti2.I cfl( 

(iii) <�Cbl�@cb1cbtl (iv} �. -chliiti{ 
Choose the correct options 
(A) Enclosed within the integuments is a mass of cells is called -

(i) Chalaza (ii) Nucellus
(iii) En:ibryosac (iv) Ovule

(B) .Down sxndrome is the presence of an additional copy of
which chromosome number ?
(i) 21st

(iii) I 3 th

(ii) l 8th

(iv) 19th

tx5=5 

(C) Fungi are known to form symbiotic associations with P,lant roots,
example is -
(i) Lichen (ii) Mycorrhiza
(iii) Phycorrhiza (iv) Cyanobacteria

. (D) How many polypeptide chain to form Insulin ? 
(i) 2 (ii) 4
(iii) 5 (iv) 3

(E) Free living bacteria responsible for the fixation of atmospheric nitrogen
IS -

(i) Streptococcus
(iii) Stephylococcus

(ii) Azotobacter
(iv) E. Coli 
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4 

� �r� I qf� � '37a"{ � 

(i) �cl<lll 11' �� � fu,e �i=a -« mor i ?

(ii) 11'Rcl "9' YB-1r �m1UT fcITT:f �nM � cf>TTUT m-a1 t ?

(iii) l:!;m;TT� � � �r.)- 'Q"{ '3""� t � fc6� �� C-01 m rcn�

'1f@T i?

(iv) -tl-.lJ;f.l:!;.· i3fl!! ci>l � ci@ �� cb(;cllcl t I

(v) �r wm- t � «r{ 'Q"{ � ��IB � C-OT � mm t ?

Write the answers in one word / sentence

txS=S 

(i) By which method asexual reproduction takes place in Penicillium ? ·
(ii) By which chromosome sex determination takes place in Human being ?
(iii) Which yeast is used for commercial production of ethanol ?

(iv) Name the enzyme which is cutting of DNA at specific locations.
(v) How many % of energy loss in every energy level in Energy flow ?

-e-tr � � JxS=S 

"3l" "�" 

(i3f) cl I flcf2.1141 (I) fosfll-�

(�) �c6T� (2) tl.l:f'{.l:!;.

(tr) {-ell ift-1 I� (3) �

(<::) i'lR.i�'lf'icb (4) t;ll.attilf..a

(tT) wtftmffcb $r (5) � · �Ulch <01

Match the following column 
II 

A
" "8" 

(a) Vasectomy (I) Big-Bang

(b) Origin of universe (2) D.N.A.

(c) Swaminathan (3) Tansley

(d) Palindromic (4) Green revolution

(e) Ecosystem (5) Male-sterility
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SECTION - B 

(Very short answer type questions) 

State any two differences between Self pollination and Cross-pollination. 

3N'qf / OR 

��q')IJ'lq?fl � t{'ci fu-csfl\l'lq{r � � � m 3lcR R;if@� I 

Write any two differences between Monocotyledon seed and. Dicotyledon seed. 

What is test tube baby ? 

3N'qf / OR 

What is antibiotic ? 

What is Biological Oxygen Demand ? 

3N'qf / OR 

What is energy flow ? 

2 

2 

2 
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(� � ll�-f) 

(Short answer type questions) 

Wf>l'!l<Jt'1-i � i ? W � $ �qq.:i -q' �mfq� 2 �l'-11•:fi $ "'WT

�fuAq I 

What is spermatogenesis ? Name 2 hormones involved in regulation 
of spermatogenesis. http://www.mpboardonline.com 

3Ffqf / OR 

�S\Jl'1'1 � i ? '3fs<Jt'1'1 -q' �Wl1if 2 �11-0•lt° $ � R,tfuAq 

What is oogenesis ? Name 2 hormones which arc involved in oogenesis. 

9 � $ � -q' � ctcfi1'>1cCI $ � � -3fjSl4111 R.ifuAll I
Write any 3 applications of biotechnology in the field of Agriculture. 

3'� I OR 
� � � '3ct(cfi -q' � 3 3@\ R,tfuAq I 
Write any 3 differences between Manure and Biofertilizers. 

10 � � q � � ·-q � 3 '3@\ R.ifuAll I 

Write any 3 differences between Food web and· Food chain. 
3Ffql / OR 

� m � t ? BY�l�ll 1 

What is Tr_ophic level ? Explain it. 

(cfrq � ll�.f) 
(Long answer type questions) 

11 . cii�t'lct, $ tfllT i ? � � 4 fu�� �f¾All I 
What is Genetic code ? Write down any 4 salient feature of it. 

3'� I OR 

DNA sifaqifu � i . ? � � R.ifuA� I 
What is DNA replication ? Write down its method. 

3 

3 

3 

4 
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14 

Define Analogous and Homologous organs with example. 

3'em I OR 

� � � � m cJiT •11'-tiRba fu3J €l11�� 

Draw a labelled diagram of Urey and Miller experiment. 

Write any four differences. between Innate immunity' and Adaptive immunity. 

3'em I OR 

What is Antigen ? Write down general characteristics of it. 

What is HIV ? Write any 4 preventive methods of AIDS. 

3tem I OR 

What is Hybridization ? Write its types. 

What is Gene cloning ? Write its importance. 

3'em I OR 

What is Plasmids ? Write down its types. 

4 

4 

4 

4 
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(Long answer t:ype questions) 

16 � � � '31�· c6IG CbT -il'1if&ia ftrsr. Gl-il�Q I 

Draw a labdled diagram of Transverse section of Human testis . 

3'� I OR

� \.ll(c,,�ch � � �vt c6l"l c6T -1('1if4ia ftrsr �� 1 

Draw a labelled diagram of longitudinal section of a typical flower. 

Clarify the structure of double helix model of DNA. 

�ercrt /. OR

-it-� � � '319&{�-1 f.lwr '<hT (1'1$H�i:l cfm � tj'ftl'f � � ci qwrr 4'1'119-51 
� � �( ·� cfm rt 4'1'114-51 � ffl ffim � qr � ffl qM 
F2 � � �•1'12.1�9 ci cGi112.1�q �· 'chT WITT" mi � &ITT (1'1$ll�Q I 

Explain Mendel law of independent assortment with the example of round 
seed, yellow cotyledon and wrinkled seed, green cotyledon with the help 
of checker board. And also explain Genotype and Phenotype ratio m 
F2 generation.

What is Ecological Succession ? Wri.te its variou·s steps. 

3'� I OR

llTftft� Mftrs tfqT t ? -a � m � � � ? (1'1$il�Q 

s 

5 

5 

Whal is Ecological Pyramid ? How many are their types ? Expalin. 
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